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Question 3 

 
6 points (2 + 2 + 2) 
 
(a)  2 points: 

  One point is earned for stating “false.” 
  One point is earned for explaining that the difference between ATC and AVC is AFC, 

which decreases as a firm’s output increases. 
 
(b)  2 points: 

  One point is earned for stating “false.” 
  One point is earned for the explanation that the profit-maximizing output occurs where 

P = MC, which might be to the right or to the left of the lowest point on the ATC curve. 
 
 
(c)  2 points: 

  One point is earned for stating “false.” 
  One point is earned for the explanation that if the firm shuts down in the short run, its 

losses from operating must be larger than (or equal to) its total fixed costs OR price 
must be less than AVC, so it is incurring a loss. 
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Question 3 

 
Sample: 3A 
Score: 6 
 
The student earned all points in this question. 
 
Sample: 3B 
Score:  3  
 
The student lost both points in part (a) for an incorrect conclusion and explanation. The student lost  
1 point in part (b) because there is no explanation that the profit-maximizing output occurs where P = MC, 
which can occur to the right or left of the lowest point of the average total cost curve in the short run. 
 
Sample: 3C 
Score: 1 
 
This is a poor response. The student answers parts (a) and (b) incorrectly. In part (c) 1 point  was earned for 
the correct conclusion of false, but the explanation point was not earned because the short-run shut-down 
point is described as P < ATC rather than P < AVC. 
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